

See a Social Security Number? Say Something! Report Privacy Problems to https://public.resource.org/privacy Or call the IRS Identity Theft Hotline at 1-800-908-4490



Return of Private Foundation or Section 4947(a)(1) Nonexempt Charitable Trust Treated as a Private Foundation

Department of the Treasury Internal Revenue Service

Note. The foundation may be able to use a copy of this return to satisfy state reporting requirements

2010

OMB No 1545-0052

For cal-	endar year 2010, or tax year be	eginning		, 2010	, and ending			7	
G Che	eck all that apply. Initial r	eturn Init	al Return o	f a former p	ublic charity			Fin	al return
	Amend	ed return	Г	Address	change T	Nar	ne c	hange	
						1.12.	A	Employer identification nu	mber
HITT	ER FAMILY FOUNDATION	N					^	95-4790803	
	5 PALMS BLVD.	••					В	Telephone number (see the	instructions)
	ANGELES, CA 90034						-	310 552-0770	matractions)
	•						С		nonding shoot bars >
H C	heck type of organization	X Section 50	1/01/21 0400	ant nemeta i	Soundation				
E	Section 4947(a)(1) nonexem				oundation private foundat			2 Foreign organizations meethere and attach computation	on Property Check
I Fa	air market value of all assets at end of			thod X C			E	If private foundation status	
	rom Part II, column (c), line 16)		Other (specify		asii Mcci	uai		under section 507(b)(1)(A)	
►s							F	If the foundation is in a 60	
Part I			Column (a)) must be of	n cash basis)		L	under section 507(b)(1)(B)	, check here
I ait i	Expenses (The total of a			enue and	(b) Net inve		nt	(c) Adjusted net	(d) Disbursements
	columns (b), (c), and (d) m	av not neces-	expenses	per books	ıncom	е		ıncome	for charitable purposes
	sarily equal the amounts in	column (a)							(cash basis only)
	(see the instructions))		_	00 000				······································	
	1 Contributions, gifts, grants, etc, r			00,000.	数 が 1.0% No.2 No.3 To 1.2 T				The state of the s
-	2 Ck Lif the foundn is not 3 Interest on savings and		, , ,	: ,	30 45 S. S. S.	·			(A)
	cash investments	terriporary		80,410.	30	, 51	.5.	80,410.	
ļ	4 Dividends and interest from sec	curities		19,086.		08		19,086.	, , , , , , , , , , , , , , , , , , , ,
	5a Gross rents					, , ,			S 12 3 42
	b Net rental income or (loss)		/		5				- " " " " " " " " " " " " " " " " " " "
R E	6a Net gain/(loss) from sale of asse	ts not on line 10	-	18,149.			衤	**	- 1 Alba - 1 Alba - 1
E V	b Gross sales price for all assets on line 6a	455,381.		65. ,	* 🖫			REC	=IVFD A
E	7 Capital gain net income (from Pa	art IV, line 2).	*				0.		
N	8 Net short-term capital ga	ain	* 4	£			\ <u>`</u>	9 0.	, S
U E	9 Income modifications		. "	. 47	``%\$`		8 %.	S JUN 6	9 2011
_	10a Gross sales less returns and allowances.							=	9 2011 8
	h Less Cost of		*				â	OGD	EN. UT
	goods sold		**	<u> </u>			. Agos	* J UGD	-14, U4
	c Gross profit/(loss) (att sch) 11 Other income (attach sch	hodulo)				·········			
	(ATEMENT 1		3.	,				
	12 Total. Add lines 1 through		2	81,350.	4.0	60	17	99,496.	
	13 Compensation of officers, directo	<u> </u>		0.		, 00	<u>,</u>	33,430.	
	14 Other employee salaries and wa								
	15 Pension plans, employee	•	-						
А	16a Legal fees (attach schedule)				-				
D M	b Accounting fees (attach sch)	SEE ST 2		1,000.		25	0.		750.
, N	c Other prof fees (attach sch)						-		
0 I	17 Interest								
O P E R A T	18 Taxes (attach schedule)(see instr.) S	SEE STM 3		85.		-			85.
AA	19 Depreciation (attach								
_ 1 i l	sch) and depletion								
N V G E	20 Occupancy								
Δ <u>==</u>	21 Travel, conferences, and 22 Printing and publications								
N©X	22 Printing and publications23 Other expenses (attach s				_				
E	SEE STA	ATEMENT 4		5,634.		6,63			
છ*N) \$	24 Total operating and adm			3,031.		,, 05	7.	······································	
V~E S	expenses. Add lines 13	through 23		6,719.	5	, 88	4.		835.
2	25 Contributions, gifts, grants paid		1	51,720.					151,720.
scanned jur 1.2.20	26 Total expenses and dist	oursements.							
	Add lines 24 and 25		1	58,439.	5	, 88	4.	0.	152,555.
삙	27 Subtract line 26 from line								
爱	a Excess of revenue over and disbursements	expenses	2	22,911.					
Ž.	b Net investment income (if negati	ive, enter Ο)		,	43	3,71	7		
D	C Adjusted net income (if negative	•	,			· , · ±		99,496.	
75/53			<u></u>					/	

Par	žiji i	Balance Sheets Attached schedules and amounts in the description column should be for end-of-year amounts only	Beginning of year		End o	of year	
		(See instructions)	(a) Book Value	(b) Book Valu	ie	(c) Fair Market	Value
	1	Cash — non-interest-bearing					
	2	Savings and temporary cash investments	1,339,579.	1,507,7	77.	1,507,	,777.
	3	Accounts receivable					
		Less allowance for doubtful accounts ▶					
	4	Pledges receivable					
		Less: allowance for doubtful accounts ▶					
	5	Grants receivable					
	6	Receivables due from officers, directors, trustees, and other disqualified persons (attach schedule) (see the instructions)					
	7	Other notes and loans receivable (attach sch)					
Š		Less: allowance for doubtful accounts ▶					
A S E T		Inventories for sale or use					
	9	Prepaid expenses and deferred charges	-				
S	10 a	Investments – U.S. and state government obligations (attach schedule)	380,416.	180,4	66.	183,	114.
	ь	Investments — corporate stock (attach schedule)	468,229.	723,6	08.	824,	685.
	С	Investments — corporate bonds (attach schedule)	671,972.	671,2	56.	704,	514.
	11	Investments – land, buildings, and equipment basis					
		Less: accumulated depreciation (attach schedule)					
	12	Investments – mortgage loans					
	13	Investments — other (attach schedule)					
	14	Land, buildings, and equipment basis			<u> </u>	<u> </u>	
		Less. accumulated depreciation (attach schedule)					
		Other assets (describe \(\) Total assets (to be completed by all filers — see instructions Also, see page 1, item I)	2,860,196.	3,083,1	07.	3,220,	.090.
Ļ	17	Accounts payable and accrued expenses			*	*	St.
Å	18	Grants payable					
В	19	Deferred revenue					` [
Ľ	20	Loans from officers, directors, trustees, & other disqualified persons				4	
l T	21	Mortgages and other notes payable (attach schedule)					,
i	22	Other liabilities (describe				. ,	up agreement
E S	23	Total liabilities (add lines 17 through 22)	0.		0.		į
		Foundations that follow SFAS 117, check here and complete lines 24 through 26 and lines 30 and 31.			<u> </u>	<i>``</i> `	*
N F E U T N	24	Unrestricted	2,860,196.	3,083,1	07.		
	25	Temporarily restricted					a de la composição de l
ΔD	26	Permanently restricted					1
A B S A E A		Foundations that do not follow SFAS 117, check here and complete lines 27 through 31.					1
E L T A	27	Capital stock, trust principal, or current funds					1
SN	28	Paid-in or capital surplus, or land, building, and equipment fund.					i
OE	29	Retained earnings, accumulated income, endowment, or other funds					****
RS	30	Total net assets or fund balances (see the instructions)	2,860,196.	3,083,1	07.		
	31	Total liabilities and net assets/fund balances (see the instructions)	2,860,196.	3,083,1	07		
Part	111	Analysis of Changes in Net Assets or Fund Balance		3,003,1	07.		
						,	
1	i otai end-c	net assets or fund balances at beginning of year — Part II, colust-year figure reported on prior year's return)	umn (a), line 30 (must a	gree with	1	2,860,	196
2 Enter amount from Part I, line 27a						911.	
	· · · · · · · · · · · · · · · · · · ·						
		ses not included in line 2 (itemize)			5		
6	Total	net assets or fund balances at end of year (line 4 minus line 5) – Part II, column (b),	ine 30	6	3,083,	107.

P和W Capital Gains and						
(a) List and describ 2-story brick warehou	(a) List and describe the kind(s) of property sold (e.g., real estate, 2-story brick warehouse, or common stock, 200 shares MLC Company) (b) How a P — Pur D — Dor					
1a PER BROKER STATEMEN	IT - 8103-0911		P	VARIOUS	VARIOUS	
b PER BROKER STATEMEN	IT - 8103-0911		P	VARIOUS	6/01/10	
С						
d						
e						
(e) Gross sales price	(f) Depreciation allowed (or allowable)	(g) Cost or other base plus expense of sale		(h) Gain or (loss) (e) plus (f) minus (g)		
<u>a</u> 101,866.		104	,556.		-2,690.	
b 353,515.		368	,974.		-15,459.	
С						
d						
e						
	ing gain in column (h) and owned by			(I) Gains (Coli	umn (h)	
(i) Fair Market Value as of 12/31/69	(j) Adjusted basis as of 12/31/69	(k) Excess of column (over column (j), if any	(i) / th	gain minus column (I ian -0-) or Losses (fr	k), but not less rom column (h))	
a					-2,690.	
b					-15,459.	
c			_			
d						
e					.=	
2 Capital gain net income or (ne	t capital loss) — If gain, also If (loss), ent	enter in Part I, line 7 er -0- in Part I, line 7	2		-18,149.	
3 Net short-term capital gain or	(loss) as defined in sections 1222(5)	and (6)				
If gain, also enter in Part I, line	e 8, column (c) (see the instructions)	If (loss) enter -0-		·		
in Part I, line 8		· · ·	3		-2,690.	
Part V Qualification Unde	r Section 4940(e) for Reduce	<u>d Tax on Net Investme</u> i	nt Income			
Was the foundation liable for the sec If 'Yes,' the foundation does not qua	tion 4942 tax on the distributable am	mplete this part	<u> </u>	Yes	X No	
	n each column for each year, see th		any entries			
(a) Base period years Calendar year (or tax year beginning in)	(b) Adjusted qualifying distributions	(c) Net value of noncharitable-use asse	ets (col	(d) Distribution umn (b) divided		
2009	134,740.	2,664	,044.		0.050577	
2008	126,008.	2,386	,137.		0.052808	
2007	125,146.	2,139	,160.		0.058502	
2006	78,235.	1,769	,120.	_	0.044223	
2005	55,947.	1,308	,744.		0.042749	
2 Total of line 1, column (d)			2		0.248859	
3 Average distribution ratio for the number of years the foundation	ne 5-year base period – divide the to n has been in existence if less than 5	tal on line 2 by 5, or by the years.	3		0.049772	
4 Enter the net value of nonchar	stable-use assets for 2010 from Part	X, line 5	4		2,371,943.	
5 Multiply line 4 by line 3			5		118,056.	
6 Enter 1% of net investment inc	come (1% of Part L line 27h)		6		437.	
	como (170 or 1 dict), fine 270)					
7 Add lines 5 and 6			7	 	118,493.	
8 Enter qualifying distributions fr	om Part XII, line 4 han line 7, check the box in Part VI,	line 1h, and complete that as	8 art using a 19	6 tay rate Sec #	152,555.	
Part VI instructions			antusing a 17	o lax rate See ti		

	990-P7 (2010) HITTER FAMILY FOUNDATION 95-4790803		F	Page 4
Par	See the mistiae	tions)		
1a	Exempt operating foundations described in section 4940(d)(2), check here	384);		
	Date of ruling or determination letter: (attach copy of letter if necessary — see instr.)			
b	Domestic foundations that meet the section 4940(e) requirements in Part V,			437.
	check here ► X and enter 1% of Part I, line 27b	£ \$49,34		*
С	All other domestic foundations enter 2% of line 27b. Exempt foreign organizations enter 4% of Part I, line 12, column (b)		1.6	
2	Tax under section 511 (domestic section 4947(a)(1) trusts and taxable	2.50		
_	foundations only. Others enter -0-)			<u>0.</u>
_	Add lines 1 and 2			437.
4	Subtitle A (income) tax (domestic section 4947(a)(1) trusts and taxable foundations only Others enter -0-)			0.
	Tax based on investment income. Subtract line 4 from line 3. If zero or less, enter -0-	· ·	<u>ا</u> پير ۾ .	<u>437.</u>
	Credits/Payments			
	2010 estimated tax pmts and 2009 overpayment credited to 2010 6a 1,000.			
	Exempt foreign organizations — tax withheld at source Tax paid with application for extension of time to file (Farm 8900)	: : :.:ఏ.	3%	्रक्ष्यूच ऑकस्टर
	Tax paid with application for extension of time to file (Form 8868) Backup withholding erroneously withheld 6c 6d		* * * * * * * * * * * * * * * * * * *	
			1 /	<u> </u>
	Total credits and payments Add lines 6a through 6d Enter any penalty for underpayment of estimated tax. Check here		Τ,(000.
	Tax due If the total of lines 5 and 8 is more than line 7, enter amount owed			0.
	Overpayment If line 7 is more than the total of lines 5 and 8, enter the amount overpaid		-	563.
	Enter the amount of line 10 to be: Credited to 2011 estimated tax > 563. Refunded > 11			0.
	t VII-A Statements Regarding Activities			- • ·
	During the tax year, did the foundation attempt to influence any national, state, or local legislation or did it		Yes	No
ıa	participate or intervene in any political campaign?	1a		Х
b	Did it spend more than \$100 during the year (either directly or indirectly) for political purposes (see the instructions for definition)?	1 b		x
	If the answer is 'Yes' to 1a or 1b , attach a detailed description of the activities and copies of any materials published or distributed by the foundation in connection with the activities	43. ·	,, ,,	
	Did the foundation file Form 1120-POL for this year?	1 c		X
	Enter the amount (if any) of tax on political expenditures (section 4955) imposed during the year		> %«	1 100
	(1) On the foundation $\ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \$			
	Enter the reimbursement (if any) paid by the foundation during the year for political expenditure tax imposed on foundation managers • \$ 0.	*		`
	Has the foundation engaged in any activities that have not previously been reported to the IRS?	2		X
	If 'Yes,' attach a detailed description of the activities	*,		
	• • • • • • • • • • • • • • • • • • • •			
3	Has the foundation made any changes, not previously reported to the IRS, in its governing instrument, articles of incorporation, or bylaws, or other similar instruments? If 'Yes,' attach a conformed copy of the changes	3		X
	Did the foundation have unrelated business gross income of \$1,000 or more during the year?	4a		Х
	If 'Yes,' has it filed a tax return on Form 990-T for this year?	4b	N	/A
5	Was there a liquidation, termination, dissolution, or substantial contraction during the year?	5		Х
	If 'Yes,' attach the statement required by General Instruction T	35	/0š	
6	Are the requirements of section 508(e) (relating to sections 4941 through 4945) satisfied either			
	● By language in the governing instrument, or	-	×,	*>
	By state legislation that effectively amends the governing instrument so that no mandatory directions that conflict			
	with the state law remain in the governing instrument?	6	Х	
	Did the foundation have at least \$5,000 in assets at any time during the year? If 'Yes,' complete Part II, column (c), and Part XV	7	Х	
8a	Enter the states to which the foundation reports or with which it is registered (see the instructions)			-
	CA			
þ	If the answer is 'Yes' to line 7, has the foundation furnished a copy of Form 990-PF to the Attorney General			ļ
	(or designate) of each state as required by General Instruction G2 If 'No,' attach explanation	8ь	<u>X</u>	<u> </u>
9	Is the foundation claiming status as a private operating foundation within the meaning of section 4942(j)(3) or 4942(j)(5) for calendar year 2010 or the taxable year beginning in 2010 (see instructions for Part XIV)? If 'Yes,' complete Part XIV	9		X
	Did any persons become substantial contributors during the tax year? If 'Yes,' attach a schedule listing their names and addresses. SEF. STATEMENT 5	10	x	

Form **990-PF** (2010)

BAA

a At the end of tax year 2010, did the foundation have any undistributed income (lines 6d and 6e, Part XIII) for tax year(s) beginning before 2010?

If 'Yes,' list the years ► 20 , 20 , 20 , 20

b Are there any years listed in 2a for which the foundation is not applying the provisions of section 4942(a)(2) (relating to incorrect valuation of assets) to the year's undistributed income? (If applying section 4942(a)(2) to all years listed, answer 'No' and attach statement - see the instructions)

c If the provisions of section 4942(a)(2) are being applied to any of the years listed in 2a, list the years here

► 20 , 20 , 20 , 20

3a Did the foundation hold more than a 2% direct or indirect interest in any business enterprise at any time during the year?

Yes X No

Yes X No

b If 'Yes,' did it have excess business holdings in 2010 as a result of **(1)** any purchase by the foundation or disqualified persons after May 26, 1969, **(2)** the lapse of the 5-year period (or longer period approved by the Commissioner under section 4943(c)(7)) to dispose of holdings acquired by gift or bequest, or **(3)** the lapse of the 10-, 15-, or 20-year first phase holding period? (Use Schedule C, Form 4720, to determine if the foundation had excess business holdings in 2010)

4a Did the foundation invest during the year any amount in a manner that would jeopardize its charitable purposes?

b Did the foundation make any investment in a prior year (but after December 31, 1969) that could jeopardize its charitable purpose that had not been removed from jeopardy before the first day of the tax year beginning in 2010?

4a	Х
4b	Χ

N/A

N Ά

2b

3ь

Form **990-PF** (2010)

Ofm 990-PF (2010) HITTER FAMILY FOUR		4700 14 . D. D.	95-47	90803	Page 6	
Part VII-B Statements Regarding Activiti		1 4/20 May Be Req	uired (continued)			
5à During the year did the foundation pay or incu(1) Carry on propaganda, or otherwise attempt		n (costion 4045(a))2	□v _{ac} [⊽]	No	, .	
	_		∐ Yes X	NO		
on, directly or indirectly, any voter registra	(2) Influence the outcome of any specific public election (see section 4955), or to carry on, directly or indirectly, any voter registration drive? Yes X No					
(3) Provide a grant to an individual for travel,	study, or other similar	purposes?	. Yes X	No .	• .	
(4) Provide a grant to an organization other the in section 509(a)(1), (2), or (3), or section	(4) Provide a grant to an organization other than a charitable, etc, organization described in section 509(a)(1), (2), or (3), or section 4940(d)(2)? (see instructions)				-	
(5) Provide for any purpose other than religio educational purposes, or for the preventio	us, charitable, scientific n of cruelty to children	c, literary, or or animals?	Yes X	No		
b If any answer is 'Yes' to 5a(1)-(5), did any of described in Regulations section 53.4945 or in (see instructions)?	the transactions fail to a current notice regard	qualify under the exceptions disaster assistance	tions	5b	N/A	
Organizations relying on a current notice rega	rding disaster assistand	ce check here	▶]	-1111	
c If the answer is 'Yes' to question 5a(4), does to tax because it maintained expenditure response	the foundation claim ex	emption from the	N/A Yes	No		
If 'Yes,' attach the statement required by Regi		5-5(d)	MA [] les [, 140		
6a Did the foundation, during the year, receive ar on a personal benefit contract?	ny funds, directly or ind	irectly, to pay premiums	S Yes X	No		
b Did the foundation, during the year, pay premi	iums, directly or indirec	tly, on a personal bene	fit contract?	6ь	Х	
If 'Yes' to 6b, file Form 8870				,		
7a At any time during the tax year, was the found				No		
b If yes, did the foundation receive any proceed Part VIII Information About Officers, Di				7b		
Part VIII Information About Officers, Diand Contractors	rectors, Trustees,	roundation Manag	gers, nignly Pald i	imployees	5,	
1 List all officers, directors, trustees, foundation	n managers and their	compensation (see inst	ructions)			
	(b) Title and average	(c) Compensation	(d) Contributions to	(e) Expens	e account.	
(a) Name and address	hours per week devoted to position	(If not paid, enter -0-)	employee benefit plans and deferred compensation	other allowances		
ANNA HITTER	PRES./DIRECT	0.	0.		0.	
1180 S . BEVERLY DRIVE	2.00					
LOS ANGELES, CA 90035				ļ		
SABRINA HITTER	SEC./DIRECTO	0.	0.		0 .	
9034 ALTO CEDRO DR	1.00					
BEVERLY HILLS, CA 90210			1			
STEVE HITTER	TREAS./DIREC	0.	0.		0.	
2361 BROOKSHIRE LN	1.00					
LOS ANGELES, CA 90077						
2 Compensation of five highest-paid employee	· · · · · · · · · · · · · · · · · · ·					
(a) Name and address of each employee paid more than \$50,000	(b) Title and average hours per week devoted to position	(c) Compensation	(d) Contributions to employee benefit plans and deferred	(e) Expense other allo	e account, owances	
NONE	<u> </u>		compensation	 		
		1				
Total number of other employees paid over \$50,000)				0	

Describe the two largest program-related investments made by the foundation during the tax year on lines 1 and 2 Amount All other program-related investments See instructions 3

BAA

Total. Add lines 1 through 3

Form 990-PF (2010)

0.

Page 8

Par	Minimum Investment Return (All domestic foundations must complete this part. For see instructions.)	reign	foundations,
1	Fair market value of assets not used (or held for use) directly in carrying out charitable, etc, purposes		
ā	Average monthly fair market value of securities	1 <u>a</u>	1,812,312.
t	Average of monthly cash balances	1 b	<u>595, 752.</u>
(Fair market value of all other assets (see instructions)	1 c	
C	i Total (add lines 1a, b, and c)	1 d	2,408,064.
6	Reduction claimed for blockage or other factors reported on lines 1a and 1c) }	
	(attach detailed explanation) 1e 0.		
2	Acquisition indebtedness applicable to line 1 assets	2	0.
3	Subtract line 2 from line 1d	3	2,408,064.
4	Cash deemed held for charitable activities Enter 1-1/2% of line 3 (for greater amount, see instructions)	4_	36,121.
5	Net value of noncharitable-use assets. Subtract line 4 from line 3 Enter here and on Part V, line 4	5_	2,371,943.
6	Minimum investment return. Enter 5% of line 5	6	118,597.
Par		_	foundations
	and certain foreign organizations check here ► and do not complete this pa	rt.)	
1	Minimum investment return from Part X, line 6	1	118,597.
2 a	Tax on investment income for 2010 from Part VI, line 5.	\	
t	Income tax for 2010. (This does not include the tax from Part VI.)		
C	: Add lines 2a and 2b	2c	437.
3	Distributable amount before adjustments Subtract line 2c from line 1	3	118,160.
4	Recoveries of amounts treated as qualifying distributions	4	
5	Add lines 3 and 4	5	118,160.
6	Deduction from distributable amount (see instructions)	6	
_ 7	Distributable amount as adjusted Subtract line 6 from line 5. Enter here and on Part XIII, line 1.	7	118,160.
	TXII Qualifying Distributions (see instructions)	· · · · · ·	
1	Amounts paid (including administrative expenses) to accomplish charitable, etc, purposes Expenses, contributions, gifts, etc – total from Part I, column (d), line 26	1 a	152,555.
ì	Program-related investments — total from Part IX-B	1 b	
2	Amounts paid to acquire assets used (or held for use) directly in carrying out charitable, etc, purposes	2	
3	Amounts set aside for specific charitable projects that satisfy the suitability test (prior IRS approval required)	<u></u>	
		3a	
	Cash distribution test (attach the required schedule)	3b	150 555
4	Qualifying distributions Add lines 1a through 3b Enter here and on Part V, line 8, and Part XIII, line 4	4	152,555.
5	Foundations that qualify under section 4940(e) for the reduced rate of tax on net investment income Enter 1% of Part I, line 27b (see instructions)	5	437.
6	Adjusted qualifying distributions. Subtract line 5 from line 4	6	152,118.
	Note. The amount on line 6 will be used in Part V, column (b), in subsequent years when calculating whether qualifies for the section 4940(e) reduction of tax in those years	r the fo	
BAA			Form 990-PF (2010)

Part XIII Undistributed Income (see instructions)

	(a) Corpus	(b) Years prior to 2009	(c) 2009	(d) 2010
1 Distributable amount for 2010 from Part XI,	A Company of the Comp			
line 7	200			118,160.
2 Undistributed income, if any, as of the end of 2010.a Enter amount for 2009 only			0.	
b Total for prior years: 20 , 20 , 20	1 4 4 4 4 4 4 4 4 4 4 4 4 4 4 4 4 4 4 4	0.	0.	
3 Excess distributions carryover, if any, to 2010:		3343	34-	
a From 2005			**	
b From 2006		, , , , , , , , , , , , , , , , , , ,		
c From 2007	*	\$ _a \		
d From 2008		v		
e From 2009 1,898.		,		
f Total of lines 3a through e	1,898.	\$ / // // //		
4 Qualifying distributions for 2010 from Part	* * * * * * * * * * * * * * * * * * * *			
XII, line 4 ► \$152,555.		,		
a Applied to 2009, but not more than line 2a	1 30,500 1.3	.,	0.	
 Applied to undistributed income of prior years (Election required — see instructions) 		0.		
c Treated as distributions out of corpus	_			
(Election required – see instructions)	0.	, ,		110 160
d Applied to 2010 distributable amount	24 205		· · · · · · · · · · · · · · · · · · ·	118,160.
e Remaining amount distributed out of corpus5 Excess distributions carryover applied to 2010	34,395.			0.
(If an amount appears in column (d), the	<u> </u>			<u> </u>
same amount must be shown in column (a))	^~	, 8		`• ·
C. Fortandha mattatal of anatonic and annual	~	*		
6 Enter the net total of each column as indicated below:		* * ,	7	,
a Corpus Add lines 3f, 4c, and 4e Subtract line 5	36,293.		* *	
b Prior years' undistributed income Subtract				. •,
line 4b from line 2b	,	0.	* .	
c Enter the amount of prior years' undistribut- ed income for which a notice of deficiency	2		4	
has been issued, or on which the section				(
4942(a) tax has been previously assessed	, , , , , , , , , , , , , , , , , , , ,	0.		
d Subtract line 6c from line 6b Taxable amount — see instructions		0.		
		<u> </u>		
e Undistributed income for 2009 Subtract line 4a from line 2a Taxable amount — see instructions.	*		0.	
into Eu Tanasio amoani. Soo mod aottonia				
f Undistributed income for 2010 Subtract lines 4d and 5 from line 1. This amount must be				
distributed in 2011				0.
7 Amounts treated as distributions out of				
corpus to satisfy requirements imposed by section 170(b)(1)(F) or 4942(g)(3)				
(see instructions)	0.			
8 Excess distributions carryover from 2005 not	_			
applied on line 5 or line 7 (see instructions)	0.			
9 Excess distributions carryover to 2011. Subtract lines 7 and 8 from line 6a	36,293.			
10 Analysis of line 9		<u> </u>		
a Excess from 2006				
b Excess from 2007				
c Excess from 2008				
d Excess from 2009 1,898.				
e Excess from 2010 34,395.				

Form 990-PF (2010) HITTER FAMILY FO	UNDATION			95-479080	3 Page 10
PartXIV Private Operating Foundati					N/A
1 a If the foundation has received a ruling or is effective for 2010, enter the date of the	ruling	•		_	
b Check box to indicate whether the foundation		erating foundation of		4942(j)(3) or	4942(j)(5)
2a Enter the lesser of the adjusted net income from Part I or the minimum	Tax year	41.0000	Prior 3 years	T	
investment return from Part X for each year listed	(a) 2010	(b) 2009	(c) 2008	(d) 2007	(e) Total
b 85% of line 2a		 			
c Qualifying distributions from Part XII, line 4 for each year listed					
d Amounts included in line 2c not used directly for active conduct of exempt activities				-	
e Qualifying distributions made directly for active conduct of exempt activities Subtract line 2d from line 2c					
3 Complete 3a, b, or c for the alternative test relied upon:					
a 'Assets' alternative test — enter					
(1) Value of all assets(2) Value of assets qualifying under section 4942(j)(3)(B)(i)					
b 'Endowment' alternative test — enter 2/3 of minimum investment return shown in Part X, line 6 for each year listed					
c 'Support' alternative test - enter.					. :=
(1) Total support other than gross investment income (interest, dividends, rents, payments on securities loans (section 512(a)(5)), or royalties)					
•					
(2) Support from general public and 5 or more exempt organizations as provided in section 4942(j)(3)(B)(III)					
(3) Largest amount of support from an exempt organization					
(4) Gross investment income	(C - t - t - t - t -			-1.65.000	•
Partex Supplementary Information assets at any time during the	i (Compiete this ne vear — see in	part only if the	organization na	aa şə,uuu or mo	re in
1 Information Regarding Foundation Mana		3.1.40.1011319			· · · · · · · · · · · · · · · · · · ·
a List any managers of the foundation who close of any tax year (but only if they have	have contributed me e contributed more	ore than 2% of the than \$5,000) (See	total contributions (section 507(d)(2))	received by the foun	dation before the
ANNA HITTER					
b List any managers of the foundation who a partnership or other entity) of which the NONE	own 10% or more of foundation has a 1	of the stock of a cor 0% or greater inter	poration (or an equest	ally large portion of	the ownership of
2 Information Regarding Contribution, Gra	nt Gift Loan Scho	Jarchin etc Progr	ame:		
Check here X if the foundation only requests for funds If the foundation make complete items 2a, b, c, and d	makes contributions	to preselected cha	arıtable organization	s and does not acce anizations under oth	ept unsolicited ner conditions,
a The name, address, and telephone numb	er of the person to	whom applications	should be addresse	d	
	. ,	,,,			
b The form in which applications should be	submitted and info	rmation and materia	als they should incli	ude	
c Any submission deadlines			-		
d Any restrictions or limitations on awards,	such as by geograp	ohical areas, charita	able fields, kinds of	institutions, or other	factors
	, J J J	,	, -	,	
ВАА	TE	EA0310L 02/16/11		F	Form 990-PF (2010)

3 Grants and Contributions Paid During the	ear or Approved for Fut	ure Paymen		
Recipient	If recipient is an individual, show any relationship to any foundation manager or substantial contributor	Foundation status of	Purpose of grant or contribution	Amount
Name and address (home or business)	substantial contributor	recipient	Contribution	
a Paid during the year				
SEE STATEMENT 6				
		•		
Total			► 3a	151,720.
b Approved for future payment				
				1
				1
				<u> </u>
	<u>L.,</u>			
Total	- 		► 3b	

Part XVI-A Analysis of Income-Producing Activities

Business code Code Amount Related	(e)
b c d e f g Fees and contracts from government agencies 2 Membership dues and assessments 3 Interest on savings and temporary cash investments 4 Dividends and interest from securities 5 Net rental income or (loss) from real estate. a Debt-financed property b Not debt-financed property 6 Net rental income or (loss) from personal property 7 Other investment income 8 Gain or (loss) from sales of assets other than inventory 9 Net income or (loss) from special events 10 Gross profit or (loss) from sales of inventory 11 Other revenue	or exempt n income nstructions)
d e f g Fees and contracts from government agencies 2 Membership dues and assessments 3 Interest on savings and temporary cash investments 4 Dividends and interest from securities 5 Net rental income or (loss) from real estate. a Debt-financed property b Not debt-financed property 6 Net rental income or (loss) from personal property 7 Other investment income 8 Gain or (loss) from sales of assets other than inventory 9 Net income or (loss) from sales of inventory 11 Other revenue	
d e f g Fees and contracts from government agencies 2 Membership dues and assessments. 3 Interest on savings and temporary cash investments 4 Dividends and interest from securities 5 Net rental income or (loss) from real estate. a Debt-financed property b Not debt-financed property 6 Net rental income or (loss) from personal property 7 Other investment income 8 Gain or (loss) from sales of assets other than inventory 9 Net income or (loss) from special events 10 Gross profit or (loss) from sales of inventory 11 Other revenue	
g Fees and contracts from government agencies 2 Membership dues and assessments. 3 Interest on savings and temporary cash investments 4 Dividends and interest from securities 5 Net rental income or (loss) from real estate. a Debt-financed property b Not debt-financed property 6 Net rental income or (loss) from personal property 7 Other investment income 8 Gain or (loss) from sales of assets other than inventory 9 Net income or (loss) from special events 10 Gross profit or (loss) from sales of inventory 11 Other revenue	
g Fees and contracts from government agencies 2 Membership dues and assessments 3 Interest on savings and temporary cash investments 4 Dividends and interest from securities 5 Net rental income or (loss) from real estate. a Debt-financed property b Not debt-financed property 6 Net rental income or (loss) from personal property 7 Other investment income 8 Gain or (loss) from sales of assets other than inventory 9 Net income or (loss) from special events 10 Gross profit or (loss) from sales of inventory 11 Other revenue	
2 Membership dues and assessments. 3 Interest on savings and temporary cash investments	
2 Membership dues and assessments. 3 Interest on savings and temporary cash investments	
3 Interest on savings and temporary cash investments 4 Dividends and interest from securities 5 Net rental income or (loss) from real estate. a Debt-financed property b Not debt-financed property 6 Net rental income or (loss) from personal property 7 Other investment income 8 Gain or (loss) from sales of assets other than inventory 9 Net income or (loss) from special events 10 Gross profit or (loss) from sales of inventory 11 Other revenue	
4 Dividends and interest from securities 5 Net rental income or (loss) from real estate. a Debt-financed property b Not debt-financed property 6 Net rental income or (loss) from personal property 7 Other investment income 8 Gain or (loss) from sales of assets other than inventory 9 Net income or (loss) from special events 10 Gross profit or (loss) from sales of inventory 11 Other revenue	
5 Net rental income or (loss) from real estate. a Debt-financed property b Not debt-financed property 6 Net rental income or (loss) from personal property 7 Other investment income 8 Gain or (loss) from sales of assets other than inventory 9 Net income or (loss) from special events 10 Gross profit or (loss) from sales of inventory 11 Other revenue	
a Debt-financed property b Not debt-financed property 6 Net rental income or (loss) from personal property 7 Other investment income 8 Gain or (loss) from sales of assets other than inventory 9 Net income or (loss) from special events 10 Gross profit or (loss) from sales of inventory 11 Other revenue	
b Not debt-financed property 6 Net rental income or (loss) from personal property 7 Other investment income 8 Gain or (loss) from sales of assets other than inventory 9 Net income or (loss) from special events 10 Gross profit or (loss) from sales of inventory 11 Other revenue	
6 Net rental income or (loss) from personal property 7 Other investment income 8 Gain or (loss) from sales of assets other than inventory 9 Net income or (loss) from special events 10 Gross profit or (loss) from sales of inventory 11 Other revenue	
7 Other investment income 8 Gain or (loss) from sales of assets other than inventory 9 Net income or (loss) from special events 10 Gross profit or (loss) from sales of inventory 11 Other revenue	
8 Gain or (loss) from sales of assets other than inventory 9 Net income or (loss) from special events 10 Gross profit or (loss) from sales of inventory 11 Other revenue	
9 Net income or (loss) from special events 10 Gross profit or (loss) from sales of inventory 11 Other revenue	
10 Gross profit or (loss) from sales of inventory 11 Other revenue	-18,149
11 Other revenue	
THE DEPUND	
a IRS REFUND	3.
b	
c	
d	
e	
12 Subtotal Add columns (b), (d), and (e) 99,496.	-18,146.
13 Total. Add line 12, columns (b), (d), and (e)	81,350.
(See worksheet in line 13 instructions to verify calculations)	

Line No. ▼	Explain below how each activity for which income is reported in column (e) of Part XVI-A contributed importantly to the accomplishment of the foundation's exempt purposes (other than by providing funds for such purposes) (See the instructions)
N/A	
 -	

Form 990-PF (2010) HITTER FAMILY FOUNDATION 95-4790803 Part XVII Information Regarding Transfers To and Transactions and Relationships With Noncharitable Exempt Organizations

							Yes	NO
describe	organization directly ed in section 501(c) o to political organiza	of the Code (o	engage in any of the following wit ther than section 501(c)(3) organ	h any ot iizations	ther organization) or in section 527,			-
_	· ·		a noncharitable exempt organiza	ation of				
(1) Cas	h				[1 a (1)		X
(2) Oth	er assets					1a (2)		X
b Other tr	ansactions.							
(1) Sale	es of assets to a nor	ncharitable exe	empt organization		Ĭ	1b(1)		X
(2) Pur	chases of assets froi	m a noncharita	able exempt organization			1 b (2)		X
(3) Ren	tal of facilities, equip	pment, or othe	er assets			1 b (3)		X
• •	nbursement arrange				ľ	1 b (4)		X
• •	ns or loan guarantee				Ì	1 b (5)		X
• •	ū		nip or fundraising solicitations			1b (6)		X
			sts, other assets, or paid employe	ees	1	1c		X
	or manning, equipme	g	oto, ettier decete, et pere empre,		L			
d If the ar the good any tran	nswer to any of the a ds, other assets, or s nsaction or sharing a	above is 'Yes,' services given irrangement, s	complete the following schedule by the reporting foundation. If th how in column (d) the value of the	Columr e founda ne goods	n (b) should always show the fair mation received less than fair market s, other assets, or services received	arket val value in	ue of	
(a) Line no	(b) Amount involved		of noncharitable exempt organization		Description of transfers, transactions, and s			s
N/A								
	•							
			 					
		1						
		<u> </u>						
		1						
								
		 						
	<u> </u>	 		ļ				
				L				
2a Is the fo	oundation directly or	indirectly affili	ated with, or related to, one or n	iore tax-	exempt organizations		T.	
	, ,	•	ther than section 501(c)(3)) or in	section	52//	Yes	s X	NO
	complete the follow		T					
) Name of organizat	ion	(b) Type of organization		(c) Description of rela	tionship		
N/A								
Sign Here	penalties of perjury, I declar and complete Declaration	re that I have examn of preparer (other	nined this return, including accompanying so than taxpayer or fiduciary) is based on all if		d statements, and to the best of my knowledge of which preparer has any knowledge PRESIDENT	and belief, i	t is true,	•
	nature of fficer or trustee	VV	- V 0	Date	Title			
	Print/Type preparer's na		Propager's sugnature	- Date	Tool Tool	PTIN		
				A NT	_// _ / . Cneck □			
Paid	STEVEN R. DO		STEVEN R. DORFM	71A	1 - 1 1 7 1 4-11 - 11 - 1	N/A		
Preparer		OORFMAN &			Firm's EIN ► N/A			
Use Only	Trirm's address = -		HIRE BLVD STE 800			001	1100	
	<u> </u>	OS ANGELE	ES, CA 90048		Phone no (323)	934-		
BAA						Form 99	0-PF ((2010)

Schedule B (Form 990, 990-EZ, or 990-PF)

Department of the Treasury Internal Revenue Service

Schedule of Contributors

► Attach to Form 990, 990-EZ, or 990-PF

OMB No 1545-0047

2010

Name of the organization		Employer identification number
HITTER FAMILY FOUNDATION		95-4790803
Organization type (check one)		
Filers of:	Section:	
Form 990 or 990-EZ	501(c)() (enter number) organization	
	4947(a)(1) nonexempt charitable trust not treated as 527 political organization	a private foundation
Form 990-PF	X 501(c)(3) exempt private foundation	
	4947(a)(1) nonexempt charitable trust treated as a p 501(c)(3) taxable private foundation	rivate foundation
Check if your organization is covered by the Ge Note. Only a section 501(c)(7), (8), or (10) organization	eneral Rule or a Special Rule anization can check boxes for both the General Rule and	a Special Rule See instructions
General Rule		
X For an organization filing Form 990, 990-E2 contributor (Complete Parts I and II)	7, or 990-PF that received, during the year, \$5,000 or mor	e (in money or property) from any one
Special Rules		
509(a)(1) and 170(b)(1)(A)(vi), and received	form 990 or 990-EZ, that met the 33-1/3% support test of d from any one contributor, during the year, a contribution VIII, line 1h or (ii) Form 990-EZ, line 1 Complete Parts I	of the greater of (1) \$5,000 or
For a section 501(c)(7), (8), or (10) organiz aggregate contributions of more than \$1,00 the prevention of cruelty to children or anim	ation filing Form 990 or 990-EZ, that received from any o i0 for use <i>exclusively</i> for religious, charitable, scientific, librals Complete Parts I, II, and III	ne contributor, during the year, erary, or educational purposes, or
contributions for use <i>exclusively</i> for religiou	ation filing Form 990 or 990-EZ, that received from any our class, charitable, etc., purposes, but these contributions did not ontributions that were received during the year for an examples the General Rule applies to this organization because.	ot aggregate to more than \$1,000 clusively religious, charitable, etc.
religious, charitable, etc, contributions of \$5	5,000 or more during the year	▶ \$
990-PF) but it must answer 'No' on Part IV. line	the General Rule and/or the Special Rules does not file e 2 of their Form 990, or check the box on line H of its Fog requirements of Schedule B (Form 990, 990-EZ, or 990	rm 990-EZ, or on line 2 of its Form
BAA For Paperwork Reduction Act Notice, se 990EZ, or 990-PF.	ee the Instructions for Form 990, Sched	lule B (Form 990, 990-EZ, or 990-PF) (2010)

Schedule B		, 990-EZ,	or 990-PF)	(2010)
Name of organiz	zation			

of Part I

HITTER FAMILY FOUNDATION

Page 1 of 1
Employer identification number 95-4790803

Part I	Contributors	(see instructions.)
--------	--------------	---------------------

(a) Number	(b) Name, address, and ZIP + 4	(c) Aggregate contributions	(d) Type of contribution
1	ANNA HITTER 1180 S. BEVERLY DR. #602 LOS ANGELES, CA 90035	\$300,000.	Person X Payroll Noncash (Complete Part II if there is a noncash contribution)
(a) Number	(b) Name, address, and ZIP + 4	(c) Aggregate contributions	(d) Type of contribution
		\$	Person Payroll Noncash (Complete Part II if there is a noncash contribution)
(a) Number	(b) Name, address, and ZIP + 4	(c) Aggregate contributions	(d) Type of contribution
		\$	Person Payroll Noncash (Complete Part II if there is a noncash contribution)
(a) Number	(b) Name, address, and ZIP + 4	(c) Aggregate contributions	(d) Type of contribution
		\$	Person Payroll Noncash (Complete Part II if there is a noncash contribution)
(a) Number	(b) Name, address, and ZIP + 4	(c) Aggregate contributions	(d) Type of contribution
		\$	Person Payroli Noncash (Complete Part II if there is a noncash contribution)
(a) Number	(b) Name, address, and ZIP + 4	(c) Aggregate contributions	(d) Type of contribution
		\$	Person Payroli Noncash (Complete Part II if there is a noncash contribution)

of 1

of Part II

Employer identification number

HITTER FAMILY FOUNDATION 95-4790803 Rart II Noncash Property (see instructions) (b)
Description of noncash property given (c) FMV (or estimate) (see instructions) (d) Date received (a) No. from Part I N/A (d) Date received (a) No. from (c) FMV (or estimate) (see instructions) (b) Description of noncash property given Part I (d) Date received (a) No. from (b) Description of noncash property given (c) FMV (or estimate) (see instructions) Part I (a) No. from Part I (b) Description of noncash property given (c) FMV (or estimate) (see instructions) (d) Date received (b) Description of noncash property given (d) Date received (a) No. from (c) FMV (or estimate) (see instructions) Part I (d) Date received (a) No. from Part I (b) Description of noncash property given (c) FMV (or estimate) (see instructions)

BAA

Schedule B (Form 990, 990-EZ, or 990-PF) (2010)

Employer identification number

	FAMILY FOUNDATION			95-4790803	
Part III	Exclusively religious, charitable, e organizations aggregating more th	tc, individual contribution ian \$1,000 for the year.Co	ns to section 5 emplete cols (a) thr	01(c)(7), (8), or (10) ough (e) and the following	line entry
	For organizations completing Part III, enter contributions of \$1,000 or less for the year.	total of <i>exclusively</i> religious, c (Enter this information once S	haritable, etc, See instructions.)	> \$	N/A
(a) No. from Part i	(b) Purpose of gift	(c) Use of gift		(d) Description of how gift i	s held
	N/A				
	Transferee's name, addres	(e) Transfer of gift s, and ZIP + 4	Relations	ship of transferor to transfe	eree
(a)	(b)	(c)		(d)	-
No. from Part I	Purpose of gift	Use of gift		Description of how gift is	s held
		(e)			
	Transferee's name, addres	Transfer of gift	Relations	ship of transferor to transfe	eree
			-		
(a) No. from Part I	(b) Purpose of gift	(c) Use of gift		(d) Description of how gift is	s held
	Transferee's name, addres	(e) Transfer of gift s, and ZIP + 4	Relations	ship of transferor to transfe	eree
(a) No. from Part I	(b) Purpose of gift	(c) Use of gift		(d) Description of how gift is	s held
	Transferee's name, addres	(e) Transfer of gift s, and ZIP + 4	Relations	ship of transferor to transfe	eree

2010	FEDE	RAL STA	TEME	ENTS			PAGE
<u> </u>	HITTE	RFAMILYF	OUNDA	LION			95-479080
STATEMENT 1 FORM 990-PF, PART I, LINE 11 OTHER INCOME							
			REVE	A) ENUE BOOKS	(B) NET INVESTME INCOME	NT	(C) ADJUSTED IET INCOME
IRS REFUND		TOTAL	\$ \$	3. 3.	\$	0.\$	0.
STATEMENT 2 FORM 990-PF, PART I, LINE 16B ACCOUNTING FEES	3						
ACCOUNTING FEE	TOTAL	(A) EXPENSES PER BOOK \$ 1,00 \$ 1,00	IN	B) NET VESTMENT INCOME 250 250	<u> </u>	STED ICOME	(D) CHARITABLE PURPOSES 750.
STATEMENT 3 FORM 990-PF, PART I, LINE 18 TAXES							
CALIFORNIA FRANCHISE TAX REGISTRY OF CHARITABLE TR		7	IN	B) NET VESTMEN' INCOME	(C) F ADJUS NET IN	TED ICOME_	(D) CHARITABLE PURPOSES 10. 75. 8 85.
STATEMENT 4 FORM 990-PF, PART I, LINE 23 OTHER EXPENSES							
INVESTEMENT ACCOUNT FEES	& CHARGES TOTAL		S INV (S	(B) NET VESTMENT INCOME 5,634	r ADJU: <u>NET IN</u>	ICOME _	(D) CHARITABLE PURPOSES 0.

2	0	1	0

PAGE 2

HITTER FAMILY FOUNDATION

95-4790803

STATEMENT 5 FORM 990-PF, PART VII-A, LINE 10 SUBSTANTIAL CONTRIBUTORS DURING THE TAX YEAR

NAME OF SUBSTANTIAL CONTRIBUTOR ADDRESS OF SUBSTANTIAL CONTRIBUTOR

ANNA HITTER

1180 S. BEVERLY DR. # 602 LOS ANGELES, CA 90035

STATEMENT 6 FORM 990-PF, PART XV, LINE 3A RECIPIENT PAID DURING THE YEAR

NAME AND ADDRESS	DONEE RELATIONSHIP	FOUND- ATION STATUS	PURPOSE OF GRANT	 AMOUNT
1939 CLUB 8950 WEST OLYMPIC BLVD. # 437 LOS ANGELES, CA 90211	NONE		GENERAL FUNDRAISING	\$ 12,100.
CEDAR SINAI MEDICAL P.O BOX 48750 ROOM 2416 LOS ANGELES, CA 90048	NONE		GENERAL FUNDRAISING	11,500.
AMER. GATHERING OF JEWISH HOLO 122 WEST 30 STR NEW YORK, NY 10001	NONE		GENERAL FUNDRAISING	500.
FRIENDS OF SHEBA 9911 W. PICO BLVD. # 1220 LOS ANGELES, CA 90035	NONE		GENERAL FUNDRAISING	24,000.
SYNAGOGUE FOR PERFORMING ARTS 11727 BARRINGTON COURT # 205 LOS ANGELES, CA 90049	NONE		GENERAL FUNDRAISING	100.
MARCH OF DIMES 3699 WILSHIRE BLVD. # 520 LOS ANGELES, CA 90010	NONE		GENERAL FUNDRAISING	500.
ART CENTER COLLEGE OF DESIGN 1700 LIDA STREET PASADENA, CA 91103	NONE		GENERAL FUNDRAISING	1,000.
MEDICAL STUDENTS FOR CHOICE P.O. BOX 70190 OAKLAND, CA 94612	NONE		GENERAL FUNDRAISING	1,000.

20	1	Λ
ZU	J	U

PAGE 3

HITTER FAMILY FOUNDATION

95-4790803

STATEMENT 6 (CONTINUED) FORM 990-PF, PART XV, LINE 3A RECIPIENT PAID DURING THE YEAR

NAME AND ADDRESS	DONEE RELATIONSHIP	FOUND- ATION STATUS	PURPOSE OF GRANT	AMOUNT
SIMON WEISEN. CENTER 1399 S. ROXBURY DRIVE LOS ANGELES, CA 90035	NONE		GENERAL FUNDRAISING	\$ 1,000.
JEWISH FEDERATION 6505 WILSHIRE BLVD. LOS ANGELES, CA 90048	NONE		GENERAL FUNDRAISING	11,000.
FRIENDS OF JEWISH RENEWAL IN POLAND 3700 WILSHIRE BLVD., #957 LOS ANGELES, CA 90010	NONE		GENERAL FUNDRAISING	10,000.
AMERICAN FRIENDS OF HEBREW UNIVERSITY ONE BATTERY PARK PLAZA 25TH FLOOR NEW YORK, NY 10004	NONE		GENERAL FUNDRAISING	5,000.
HAMAKOM P.O. BOX 6777 SANTA FE, NM 87502	NONE		GENERAL FUNDRAISING	360.
PETERSEN MUSEUM 6060 WILSHIRE BLVD LOS ANGELES, CA 90036	NONE		GENERAL FUNDRAISING	3,100.
PROJECT ANGEL FOOD 922 VINE STREET LOS ANGELES, CA 90038	NONE		GENERAL FUNDRAISING	2,000.
STAND WITH US P.O. BOX 341069 LOS ANGELES, CA 90034	NONE		GENERAL FUNDRAISING	5,250.
MPP FOUNDATION P.O. BOX 77492 CAPITOL HILL WASHINGTON, DC 20013	NONE		GENERAL FUNDRAISING	2,500.
ADL 10495 SANTA MONICA BLVD LOS ANGELES, CA 90025	NONE		GENERAL FUNDRAISING	1,000.
VENICE FAMILY CLINIC 604 ROSE AVENUE VENICE, CA 90291	NONE		GENERAL FUNDRAISING	250.
BEIT T'SHUVAH 8831 VENICE BLVD. LOS ANGELES, CA 90034	NONE		GENERAL FUNDRAISING	14,250.

-0.10

PAGE 4

HITTER FAMILY FOUNDATION

95-4790803

STATEMENT 6 (CONTINUED) FORM 990-PF, PART XV, LINE 3A RECIPIENT PAID DURING THE YEAR

NAME AND ADDRESS	DONEE RELATIONSHIP	FOUND- ATION STATUS	PURPOSE OF GRANT	AMOUNT
ALZHEIMER'S DISEASE RESEARCH 22512 GATEWAY CENTER DRIVE CLARKBURG, MD 20871	NONE	SIIIIOS	GENERAL FUNDRAISING	\$ 500.
L.A. MUSEUM OF THE HOLOCAUST 6435 WILSHIRE BLVD, STE 303 LOS ANGELES, CA 90048	NONE		GENERAL FUNDRAISING	10,000.
LUPUS LA 9220 SUNSET BLVD, STE 200 LOS ANGELES, CA 90069	NONE		GENERAL FUNDRAISING	2,000.
CHAPMAN UNIVERSITY ONE UNIVERSITY DRIVE ORANGE, CA 92866	NONE		GENERAL FUNDRAISING	5,500.
CHABAD OF CALIF 741 GAYLEY AVENUE LOS ANGELES, CA 90024	NONE		GENERAL FUNDRAISING	500.
L.A.R.C 29890 NORTH BOUQUET CANYON RD SAUGUS, CA 91390	NONE		GENERAL FUNDRAISING	500.
UNION RESCUE MISSION 545 S. SAN PEDRO STREET LOS ANGELES, CA 90013	NONE		GENERAL FUNDRAISING	1,000.
CSUN FOUNDATION 18111 NORDHOFF STREET NORTHRIDGE, CA 91330			GENERAL FUNDRAISING	1,000.
ORT AMERICA 6435 WILSHIRE BLVD., STE 305 LOS ANGELES, CA 90048			GENERAL FUNDRAISING	2,000.
SINAI TEMPLE 10400 WILSHIRE BLVD. LOS ANGELES, CA 90024			GENERAL FUNDRAISING	5,100.
AMERICAN CANCER SOCIETY P.O. BOX 22718 OKLAHOMA, OK 73123			GENERAL FUNDRAISING	500.

201	Λ
ZU.I	U

PAGE 5

HITTER FAMILY FOUNDATION

95-4790803

STATEMENT 6 (CONTINUED) FORM 990-PF, PART XV, LINE 3A RECIPIENT PAID DURING THE YEAR

NAME AND ADDRESS	DONEE RELATIONSHIP	FOUND- ATION STATUS	PURPOSE O GRANT	F	AMOUNT
JEWISH BIG BROTHERS BIG SISTERS 6505 WILSHIRE BLVD., STE 600 LOS ANGELES, CA 90048			GENERAL FUNDRAISING	\$	250.
AMERICAN HEART ASSOCIATION 7272 GREENWILLE AVENUE DALLAS, TX 75231			GENERAL FUNDRAISING		1,000.
SUSAN G. KOMEN 11845 W. OLYMPIC BLVD., STE 645W LOS ANGELES, CA 90064			GENERAL FUNDRAISING		600.
ISREAL CANCER RESEARCH FUND 8383 WILSHIRE BLVD., STE 648 BEVERLY HILLS, CA 90211			GENERAL FUNDRAISING		5,000.
HAITI RELIEF FUND 48-D ATLANTIC AVENUE LYNBROOK, NY 11563			GENERAL FUNDRAISING		5,000.
KINDRED SPIRITS 1440 MENTELLE DR. FRANKLIN, TN 37069			GENERAL FUNDRAISING		360.
TOMCHEI SHABBOS P.O. BOX 481270 LOS ANGELES, CA 90048			GENERAL FUNDRAISING		500.
CECI 3000, RUE OMER-LAVALLEE MONTREAL, CA 90048			GENERAL FUNDRAISING		4,000.
			ŗ	TOTAL \$	151,720.

FORM 990-PF

Part II Line 10 a

AGENCY	FACE VALUE	(b) Book Value	(c) F	Fair Market Value
FED FARM CR BK 4.4%19	50,000	\$	50,193.00	\$	50,995.35
FED FARM CR BK 2.44%17	25,000		24,962.50		24,465.08
KLICKITAT CNTY 4.702%16	50,000		49,817.50		51,449.00
SAN LUIS OBISPO 7.45%19	50,000		55,492.50		56,204.50
		\$	180,465.50	\$	183,113.93

FORM 990-PF

Part II Line 10 b

AGENCY	FACE VALUE	(b) Book Value	(c) F	air Market Value
VARIOUS	VARIOUS	\$	615,621.94	\$	702,091.57
VARIOUS	VARIOUS		107,985.72		122,592.60
		\$	723,607.66	\$	824,684.17

FORM 990-PF

Part II Line 10 b

	Quantity	Market Price	Market Value	
quitles			Cost Basis	
BBOTT LABORATORIES	275.0000	47.9100	13,175.25	
YMBOL: ABT			14,693.68	•
CCENTURE PLC CL A F	350.0000	48.4900	16,971.50	
Y DL: ACN			14,687.60	
CE LIMITED NEW F	375.0000	62.2500	23,343.75	
YMBOL: ACE			18,469.11	
NALOG DEVICES INC	450.0000	37.6700	16,951.50	
YMBOL: ADI			12,451.45	
PACHE CORP	125.0000	119.2300	14,903.75	
YMBOL: APA	•		9,178.70	
UTO DATA PROCESSING	300.0000	46.2800	13,884.00	
YMBOL: ADP			13,032.80	
HP BILLITON LTD ADR F	250.0000	92.9200	23,230.00	
PONSORED ADR			14,094.40	
ADR REP 2 ORD YMBOL: BHP				
		400 5000	45.646.46	
L KROCK INC YMBOL: BLK	80.0000	190.5800	15,246.40 12,030.47	
OEING CO	150.0000	65.2600	9,789.00	
YMBOL: BA			9,302.65	
P PLC ADR F	250.0000	44.1700	11,042.50	
PONSORED ADR			14,787.18	
ADR REP 6 ORD YMBOL: BP				
V S CAREMARK CORP	450.0000	34.7700	15,646.50	
YMBOL: CVS			15,232.80	

FORM 990-PF

Part II Line 10 b

	Quantity	Market Price	Market Value
:quities (continued)			Cost Basis
HEVRON CORPORATION	250.0000	91.2500	22,812.50
NOL: CVX		·	18,581.20
ONOCOPHILLIPS	275.0000	68.1000	18,727.50
YMBOL: COP	·	-	16,879.05
ONSTELLATION ENERGY CO	250.0000	30.6300	7,657.50
YMBOL: CEG	-		5,921.33
COSTCO WHSL CORP NEW	250.0000	72.2100	18,052.50
YMBOL: COST	-	-	14,221.55
ISNEY WALT CO	350.0000	37.5100	13,128.50
YMBOL: DIS	, .		11,590.10
OMINION RES INC VA NEW	350.0000	42.7200	14,952.00
YMBOL: D			11,473.76
EXXON MOBIL CORPORATION	146.0000	73.1200	10,675.52
YMBOL: XOM			8,362.66
LAHERTY & CRUMRINE CLAY	1,110.0000	16.2100	17,993.10
FD SEC INCOME FUND YMBOL: FFC			17,034.57
LIR SYSTEMS INC	325.0000	29.7500	9,668.75
YMBOL: FLIR			7,410.79
ENERAL ELECTRIC COMPANY	450.0000	18.2900	8,230.50
YMBOL: GE			16,281.95
ROOGLE INC CLASS A	20.0000	593.9700	11,879.40
YMBOL: GOOG			9,250.75

FORM 990-PF

Part II Line 10 b

	Quantity	Market Price	Market Value
:quities (continued)	-		Cost Basis
IEWLETT-PACKARD COMPANY	275.0000	42.1000	11,577.50
i NOL: HPQ			14,402.18
ISBC HLDGS PLC ADR NEW F	275.0000	51.0400	14,036.00
PONSORED ADR		- -	14,066.68
ADR REPS 5 ORD YMBOL: HBC			
T T CORPORATION NEW	180.0000	52.1100	9,379.80
NDIANA	เอกากักก	52,1100	9,379.60 <i>8,243.7</i> 7
YMBOL: ITT			0,2.40.77
NTEL CORP	630.0000	21.0300	13,248.90
YMBOL: INTC		•	12,266.85
OHNSON & JOHNSON	250.0000	61.8500	15,462.50
YMBOL: JNJ	· ·		16,236.20
PMORGAN CHASE & CO	400.0000	42.4200	16,968.00
IV-9OL: JPM			15,664.55
TRAFT FOODS INC	450.0000	31.5100	14,179.50
YMBOL: KFT			12,568.45
OCKHEED MARTIN CORP	250.0000	69.9100	17,477.50
YMBOL: LMT	·	<u>-</u>	18,048.30
& T BANK CORPORATION	175.0000	87.0500	15,233.75
YMBOL: MTB	·		14,449.95
IC DONALDS CORP	275.0000	76.7600	21,109.00
YMBOL: MCD			15,312.70

FORM 990-PF

Part II Line 10 b

	Quantity	Market Price	Market Value	
quitles (continued)		-	Cost Basis	
HEDCOHEALTH SOLUTIONS IY DL: MHS	210.0000	61.2700	1 2,866.70 11,924.08	
TERCK & CO INC NEW SYMBOL: MRK	350.0000	36.0400	12,614.00 <i>12,640.10</i>	
IIKE INC CLASS B SYMBOL: NKE	250.0000	85.4200	21,355.00 13,038.95	
IOVARTIS A G SPON ADR F PONSORED ADR ADR REP 1 ORD YMBOL: NVS	175.0000	58.9500	10,316.25 <i>10,123.20</i>	
PRACLE CORPORATION SYMBOL: ORCL	525.0000	31.3000	16,432.50 8,982.15	
'ROCTER & GAMBLE :YMBOL: PG	300.0000	64.3300	19,299.00 19,548.95	
₹ COMM INC YMBOL: QCOM	375.0000	49.4900	18,558.75 14,996.95	
ARGET CORPORATION :YMBOL: TGT	300.0000	60.1300	18,039.00 17,213.25	
EVA PHARM INDS LTD ADRF iPONSORED ADR ADR REP 10 ORD iYMBOL: TEVA	150.0000	52.1300	7,819.50 <i>8,162.80</i>	
' F CORPORATION :YMBOL: VFC	250.0000	86.1800	21,545.00 18,155.78	
VERIZON COMMUNICATIONS O'COL: VZ	500.0000	35.7800	17,890.00 14,225.04	
ODAFONE GROUP NEW ADR F PONSORED ADR ADR REP 10 ORD YMBOL: VOD	775.0000	26.4400	20,491.00 15,361.70	
YAL-MART STORES INC YMBOL: WMT	250.0000	53.9300	13,482.50 12,999.94	
YASTE MANAGEMENT INC DEL YMBOL: WM	400.0000	36.8700	14,748.00 12,020.87	

FORM 990-PF

Part II Line 10 b

	Quantity	Market Price	Market Value
Other Assets			Cost Basis
SHARES MSCI BRAZIL INDX IRAZIL FREE INDEX FUND IYMBOL: EWZ	300.0000	77.4000	23,220.00 14,265.95
SHARES MSCI CDA IDX FD A A INDEX FUND :YMIDOL: EWC	500.0000	31.0000	15,500.00 12,714.95
SHARES TR S&P 100 INDEX ; & P 100 INDEX ;YMBOL: OEF	200.0000	56.6700	11,334.00 <i>13,397.95</i>
'OWERSHS EXCH TRAD FD TR 'REFERRED PORTFOLIO ETF :YMBOL: PGX	1,230.0000	14.1200	17,367.60 16,980.49
IPDR GOLD TRUST IPDR GOLD SHARES IYMBOL: GLD	150.0000	138.7200	20,808.00 15,669.79
'ANGUARD EUROPEAN :YMBOL: VGK	700.0000	49.0900	34,363.00 <i>34,956.59</i>

FORM 990-PF

Part II Line 10 c

AGENCY	FACE VALUE	(b) Book Value	(c) Fair Market Value
ARCHER-DANIELS 5.45%18	50,000	\$ 54,229.00	\$ 55,623.25
BERKSHRE HTH FIN 5.4%18	50,000	49,843.00	54,699.50
BOEING CO 4.875%20	75,000	77,278.50	80,517.45
BURLINGTON NORTH 5.75%18	50,000	54,862.00	56,160.95
EMERSON ELEC CO 5.125%16	50,000	50,908.00	56,171.70
GENERAL ELECT CO 5.25%17	50,000	52,011.50	53,721.65
GOLDMAN SACHS GP 5.30%12	50,000	49,255.00	52,311.70
HOME DEPOT INC 5.2%11	50,000	50,353.00	50,366.25
JP MORGAN CHASE 6%18	50,000	50,018.00	55,758.75
MORGAN STAN DW 5.45%17	50,000	50,551.67	52,057.75
PEPSICO 5.0%18	25,000	25,743.00	27,414.98
SHELL INTL FINAN 4.3%19	55,000	55,575.33	57,365.39
VERIZON NEW JER 5.875%12	50,000	50,628.00	52,345.00
		\$ 671,256.00	\$ 704,514.32

(Rev January 2011)

Application for Extension of Time To File an Exempt Organization Return

OMB No 1545-1709

Department of the Treasury

Internal Reve	nue Service	File a sep	parate appii	cation for each return.			
• If you	are filing for an	Automatic 3-Month Extension, con	nplete only	Part I and check this box			► X
_	_	•		n, complete only Part II (on page 2 of the	s form)	
				atic 3-month extension on a previously f			
corporatio request ar Associated	in required to file n extension of tir d With Certain P	· Form 990-T), or an additional (not ne to file any of the forms listed in	automatic) Part I or Pa ust be sent	d a 3-month automatic extension of time 3-month extension of time. You can eleart II with the exception of Form 8870, In to the IRS in paper format (see instructional Charities & Nonprofits.)	ctronic iformati	ally file For ion Return f	m 8868 to for Transfers
Part I	Automatic 3-	Month Extension of Time, C	nlv subm	nit original (no copies needed).			
				-month extension - check this box and	comple	te Part I on	ıv ► 🗆
All other o	corporations (inc x returns	luding 1120-C filers), partnerships,	REMICS, ai	nd trusts must use Form 7004 to request	an ext	tension of t	me to file
	Name of exempt	organization			Employ	er identificatio	n number
Type or							
print	HITTER F	AMILY FOUNDATION			95-4	1790803	
File by the due date for	Number, street,	and room or suite number. If a P O box, see in	structions				
iling your return See	10755 PA	LMS BLVD.					
nstructions	City, town or pos	t office, state, and ZIP code For a foreign addr	ess, see instru	ctions			
	LOS ANGE	LES, CA 90034					
Enter the	Return code for	the return that this application is fo	r (file a sep	parate application for each return)			04
Applications Section Application Appli	on		Return Code	Application Is For			Return Code
Form 990			01	Form 990-T (corporation)			07
Form 990-	BL		02	Form 1041-A			08
Form 990-	EZ		03	Form 4720			09
Form 990-	PF_		04	Form 5227			10
Form 990-	T (section 401(a) or 408(a) trust)	05	Form 6069			11
Form 990-	T (trust other the	an above)	06	Form 8870			12
Telephe If the c If this check the exi I req until The	one No 310 organization doe is for a Group R this box tension is for iuest an automat 8/15 extension is for X calendar yea tax year begi	s not have an office or place of bus eturn, enter the organization's four If it is for part of the group, check ic 3-month (6 months for a corpora , 20 11 , to file the exempt org the organization's return for r 20 10 or nning, 20	digit Group this box tion require anization re	e United States, check this box Exemption Number (GEN) If If and attach a list with the names a ed to file Form 990-T) extension of time eturn for the organization named above		s of all mer	
3a if the	s application is f efundable credit	or Form 990-BL, 990-PF, 990-T, 47 s See instructions	20, or 6069), enter the tentative tax, less any	3a	\$	437.
payn	nents made Incl	ude any prior year overpayment all	owed as a		3ь	\$	1,000.
EFIF	2S (Electronic Fo	ct line 3b from line 3a Include your ederal Tax Payment System) See i	instructions	·	3c		0.
Caution. It	f you are going t	o make an electronic fund withdraw	val with this	Form 8868, see Form 8453-EO and For	m 8879	9-EO for	